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Part A
Section Id : 7806811
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 7806811
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 7806811 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Conductivity is the reciprocal of-

Options :

1. * current density

2. # resistance

3. ¥ resistivity

4. * none of the above

Question Number : 1 Question Id : 7806811 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

faggd ard@mar AmfaRed & ¥ fhus opd 82
Options :

1. % ¢RI9I

2. % gieRlY

3. ¢ YRyl

4. % IWRII H I DI Tl

Question Number : 2 Question Id : 7806812 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Insulators have -------- temperature co-efficient of resistance-
Options :

1. #® zero

2. # positive

3. ¥ negative

4. * none of the above

Question Number : 2 Question Id : 7806812 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

2Yex BT ATIH T[0T TfaRIY H4T g1l &-

Options :

1. =

2. % YqlHD

3. ¢ BUTHD

4. % IS H Y DS Tol



Question Number : 3 Question Id : 7806813 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Ampere hour is the unit of-

Options :

1. ¥ quantity of electricity

2. # strenght of current

3. # power

4. # energy

Question Number : 3 Question Id : 7806813 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TR el fhad goTE 8
Options :

1. « fdggd &t 9

2. % YRT DI e

3. % Qfaq

4. % oIl

Question Number : 4 Question Id : 7806814 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Resistance of human body is about

Options :

1. # 200 ohm

2. % 10 ohm

3. % 1000 ohm

4. % 25 ohm

Question Number : 4 Question Id : 7806814 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Ad IRR BT UfeRIY LT fored =11 81T 8
Options :

1. % 200 39

2. % 10 307

3. ¢ 1000 3MH

4. % 253

Question Number : 5 Question Id : 7806815 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25



The pupose of load in an electric circuit is to-
Options :

1. # increase the circuit current

2. ¥ utilize electrical energy

3. % decrease the circuit current

4. % none of the above

Question Number : 5 Question Id : 7806815 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

R ufky 3 s a1 32w .

Options :

1. % ORUY YRT BT I

2. ¢ Taggd o1l &1 IUAMT
3. % URUY YRT B HH HAT
4, % IWIad H I DI A8l

Question Number : 6 Question Id : 7806816 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Kirchhof's current law at junction deals with-

Options :

1. ® conservation of energy

2. # conservation of momentum

3. # conservation of angular momentum

4. ¥ conservation of charge

Question Number : 6 Question Id : 7806816 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

S W fb<leie o1 yRT o1 faw Jefid @-
Options :

1. % SHoll &b WO Y
2. % TP RO Y
3. % PV AT P TGV Y
4. AN P IE0T Y

Question Number : 7 Question Id : 7806817 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which of the following materials has negative resistance temperature coefficient-

Options :

1. # Tungsten



2. % Steel
3. % Tin
4. ¥ Carbon

Question Number : 7 Question Id : 7806817 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

PR 3 3 forer St & FepRrerey Wl A o1 &-
Options :

1. % A

2. %

3. % fed

4. HIeA

Question Number : 8 Question Id : 7806818 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which of the following materials can be used for making cable sheaths-

Options :

1. ¥ lead

2. ® copper

3. % aluminium

4. % castiron

Question Number : 8 Question Id : 7806818 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fFofefad & 3 fog IRl &1 Iua Had Wy 91 & for fsar o g 8-

Options :
1.« I
2. % dlar
3. % Toghit-ad

4, % DI AT

Question Number : 9 Question Id : 7806819 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The electric breakdown strength of materials depends on its-

Options :

1. ¥ composition

2. * thickness

3. * moisture current
4. % all of the above



Question Number : 9 Question Id : 7806819 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

T Bt faggd semers emdr ik el §

Options :

1. ¥ YD AT R
2. % DI HICs W)
3. % U B AET R
4. ¢ IWad T R

Question Number : 10 Question Id : 78068110 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The effect of moisture in the insulating materials is-

Options :

1. # to increase insulation resistance

2. # to increase dielectric strength

3. ¥ to increase dielectric loss

4. % to decrease dielectric loss

Question Number : 10 Question Id : 78068110 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

IR IrTft & T BT UHTd o1 B |-

Options :

1. % IR UlcRIY BT IGMT
2. % Z3dide d didhd ®l I
3. ¢ S3ade "D Bl I SgMHI

4. % ZEAfged gl &I gl

Question Number : 11 Question Id : 78068111 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In which type of component impedence which limiting the fault current mostly resistive -
Options :

1. ® transformer

2. # reactor

3. % cable

4. % generator

Question Number : 11 Question Id : 78068111 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25



%gw%wﬁﬁww%wmu current &1 T B aTelt S MYHIT: UfcRIgH

Options :

1. % TRIBIER
2. % TR
3. ¢ HEd

4. % SR

Question Number : 12 Question Id : 78068112 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the minimum resistance required in insulation teste voltage is 500v dc accordance with BS-7671 -
Options :

1. ® 0.5 mega ohm

2. ¥ | mega ohm

3. % 2 mega ohm

4. % 5 mega ohm

Question Number : 12 Question Id : 78068112 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

AR UREU & Y STaxges gaay UfoRiY &1 8, 56 diees 500V DC &1, BS-7671 & IR

Options :

1. % 0.5 7 39
2. 1 T 3
3. % 2T 3
4. % ST 3H

Question Number : 13 Question Id : 78068113 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which among the following cable are generally suited for voltage upto 11kv

Options :

1. ¥ belted cable

2. # screened cable

3. # pressure cable

4. % none of the above

Question Number : 13 Question Id : 78068113 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

frafefad o @ &1 T Fad IHRIE: R | 11k 96 & dleedl & (o8 S0 gidl &

Options :




1. ¥ ST S had
2. % TpF had
3. % URR had
4. % THY IS el

Question Number : 14 Question Id : 78068114 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Dielectric strength of rubber is around

Options :

1. #® 3kv/mm

2. % 10kv/mm

3. % 30kv/mm

4. * 300kv/mm

Question Number : 14 Question Id : 78068114 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TS DI SRl dldhd TTH fohai gidil §
Options :

1. #® 3kv/mm

2. % 10kv/mm

3. % 30kv/mm

4. #* 300kv/mm

Question Number : 15 Question Id : 78068115 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which size wire has the highest current caring capacity-

Options :

1. ¥ 4 gauge

2. # 10 gauge

3. % 12 gauge

4. % 18 gauge

Question Number : 15 Question Id : 78068115 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

P PR B IR B1 YRT UdTE &HdT I 31U gldl 8-
Options :

1. ¥ 479
2. % 1079
3. % 1279




4. % 1879

Question Number : 16 Question Id : 78068116 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The colour protective conductor is-

Options :

1. ¥ green- yellow

2. % green- red

3. % green- blue

4. # green- black

Question Number : 16 Question Id : 78068116 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

R&f by bl T T Eiell 8-
Options :

1. ¢ & Uial

2. % gI-dIdd

3. % - e

4. % g[- DIl

Question Number : 17 Question Id : 78068117 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which of the following material is used as a moderator in nuclear power station-

Options :

1. ¥ graphite

2. % boron

3. # calcium

4. % plutonium

Question Number : 17 Question Id : 78068117 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 & 91 9T URAT] ureR RIE H AieYe’ & FU H IUINT fa SiTdT &-

Options :

1. ¢ W
2. % §RM

3. % hfeRrgH
4. % eIy

Question Number : 18 Question Id : 78068118 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0.25

In thermal power station, economizers are used to heat -
Options :

1. # air

2. % steam

3. ¥ feed water

4. % none of the above

Question Number : 18 Question Id : 78068118 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

YHA UTeR WIH H, TH B & fo1U SHIHIATSSR BT IUTNT fHa1 S g -
Options :

1. % 91

2. % Yy

3. ¢ HIg e

4. % AR Y DIy W 78T

Question Number : 19 Question Id : 78068119 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In hydro power plants -

Options :

1. ¥ initial cost is high and operating cost is low

2. % intial cost as well as operating cost is high

3. # initial cost is low and operating cost is high

4. % initial cost as well as operating cost is low

Question Number : 19 Question Id : 78068119 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

BTSS! TR TlicH H -

Options :

1. ¢ URYS dANTd I=a § 3R TaTe aTd HH §

2. % YRIYG ANTT 3R JTe AN ol 3<d gidl @

3. % YRS ANTd HH Bial & 3R TdTe diTd S<d 8idl &
4. % URMAG AN SR TaTa ANTd il HH gt &

Question Number : 20 Question Id : 78068120 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The size of largest steam turbine being installed in India is -

Options :



1. ® 1000 mw
2. % 500 mw
3. % 220mw
4. % 120 mw

Question Number : 20 Question Id : 78068120 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

YR & R 8 aTell G St HIY TS 6T 3THR FT g -

Options :

1. % 1000 H¥TTETE

2. ¥ 500 HITGTC

3. % 220WTdTC

4. % 120 TIMEIC

Part B

Section Id : 7806812
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 7806812
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 78068121 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Majority of alternators in the use have -

Options :

1. # revolving a.c. armature winding

2. # stationary field type construction

3. ¥ revolving field type construction

4. % none of the above

Question Number : 21 Question Id : 78068121 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

f=foiad & @ fead ifiipar dwfeds SFReX Bid §




Options :

1. % YHATgo U, 3R arefEn
2. % RR &7 aR fAm|m

3. g1 g3 &3 bR i

4. % IRIGI H I DI g1

Question Number : 22 Question Id : 78068122 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

An alternator some time called ---------- generator

Options :

1. ¥ Synchronous

2. % Asynchronous

3. # Rosenberg

4. % none of the above

Question Number : 22 Question Id : 78068122 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TP DD TRex Bl HH-BHU --oo- SRR B AT 2|
Options :

1. ¢ Ripig

2. % JRpIT

3. % I

4. % JWTI H I DI T8l

Question Number : 23 Question Id : 78068123 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The voltage regulation of an alternator depends on

Options :

1. # load current

2. % p.f only

3. ¥ both load current and p.f.

4. % none of the above

Question Number : 23 Question Id : 78068123 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Jh T SRR BT dlecs! FaHT feg W AR Har g
Options :

1. % IS Hc
2. % Hgd YR thaex




3. ¢ QIS BT 3R UTaR Thaex gl R
4. % IWRIad H Y Bl 8!

Question Number : 24 Question Id : 78068124 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Armature windings of an alternator are generally -

Options :

1. # closed winding

2. ¥ open winding

3. ® partly open and partly closed windings

4. % none of the above

Question Number : 24 Question Id : 78068124 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

U dpheles SFRex &l THER aTSiSTT HIG: -
Options :

1. % dg drgfem

2. ¢ Gl arsfeT

3. % IHifRE TT J Jait 3R 31 U J dg agfen
4. % IWgd H Y BIs Tl

Question Number : 25 Question Id : 78068125 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

High - speed alternators are driven by -

Options :

1. # diesel engine

2. ® hydraulic turbine

3. ¥ steam turbine

4. % none of the above

Question Number : 25 Question Id : 78068125 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

I Il JBTetdh SR Bl o ad T SITal § -
Options :

1. % Slolel 3o

2. % GI3Slfeldh a3

3. « HIY TR

4. % IRIGIH Y DS o1




Question Number : 26 Question Id : 78068126 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The rating of an alternator is expressed in -

Options :

1. ¥ kw

2. % hp

3. ¥ kva

4, % kvar

Question Number : 26 Question Id : 78068126 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TS ddhfeid S ReR i XfeT fohad oad &1 il & -
Options :

1. % fhadare

2. % BRIUIGR

3.  fohdldiee-UMRR

4. % fHdidiee-UfeR-Rufdeg

Question Number : 27 Question Id : 78068127 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

A 4 pole d.c. machine has ----- magnetic circuit-

Options :

1. %2

2. % 8

3.¥°4

4. * none of the above

Question Number : 27 Question Id : 78068127 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

T 4 U 1 4. I=AF & - g1 Uk 8id §-
Options :

1. %2

2. % 8

3.4

4. % IWRIad H Y HIs 5!

Question Number : 28 Question Id : 78068128 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Small d.c. machine genrally have ----- pole-

Options :



1. % 4
2.% 6
3.2
4, % 8

Question Number : 28 Question Id : 78068128 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

BIe S &, 7iH & I - DA B 8
Options :

1. % 4

2. %6

3.¢°2

4. % 8

Question Number : 29 Question Id : 78068129 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The size of d.c. generator can be reduced by using -

Options :

1. ® lap winding

2. # high resistance winding materials

3. # jron commutator

4. ¥ magnetic material of high permeability

Question Number : 29 Question Id : 78068129 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

St SRR BT PR fhTehT STTNT HRP U Sl Jhdl ¢ -
Options :

1. % QU arsfgm
2. % I UfcRIY areit arsfeT I
3. % dlg BT HRCR

4, ¢ I URIT a1l Jaeb 1 Jrgedt

Question Number : 30 Question Id : 78068130 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The overall efficiency of a.d.c. gerator is maximum when its variable loss is equal to

Options :

1. ¥ constant loss

2. ¥ stray loss

3. % jron loss



4. ¥ mechanical loss

Question Number : 30 Question Id : 78068130 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TS, 3 IHT cera SReR SR ad SidT § O 39! URad-14 g1 sR1eR gl 3
Options :

1. ¢ fRrReM

2. % WA

3. % IGT RN

4. % giA® g1+

Question Number : 31 Question Id : 78068131 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The plates of a lead acid battery are made of

Options :

1. # rolled zink -copper alloy

2. % cast animonial lead alloy

3. # perforated nickel cadmium alloy

4. % pressed antimony bismuth alloy

Question Number : 31 Question Id : 78068131 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TP AS-TRTS 9t & wic fHa o+t gl &2
Options :

1. % es fNSip-BHIox g g

2. ¢ R YRGS oS Ay org

3. % RGeS Fed Haefay iy urg

4. % U UfenH famy sy eng

Question Number : 32 Question Id : 78068132 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In a lead acid battery, seperators are provided -

Options :

1. * to reduced tendency for polarization

2. ® to facilited flow of current

3. # to reduce internal resistance

4. ¥ to avoid internal short circuits

Question Number : 32 Question Id : 78068132 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0.25

T TS-TRTS 9cd H, AN fhgss Rt yem fPuea g -
Options :

| % odiehRul 1 TR Bl W B B I

2. % HIC o YdTg Pl AU &+ & oy

3. % 3R UfcRIY BT HH DR & folg

4. ¢ 3R TTE Afdhe I 51 & forg

Question Number : 33 Question Id : 78068133 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Open circuit voltage of a fully charged lead - acid cell is -

Options :

1. % 1.9V

2. %20V

3. 2.7V

4. % 2.5V

Question Number : 33 Question Id : 78068133 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

3} RE T TSl D1 718 08-S T &1 ol idhe dlecsl AT 81T & -

Options :

1. % 199
2. % 204l
3.¢ 2,74
4. % 254

Question Number : 34 Question Id : 78068134 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In lithium cell the positive electrode is made of -

Options :

1. #¥ zinc dust

2. # stainless steel

3. % spongy iron

4. ¥ carbon

Question Number : 34 Question Id : 78068134 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

forfgn 9 o YeRIAS adeis fHad s gar g

Options :




1. % S g%

2. % LAY KA
3. % Wil 3RRA
4. & BT

Question Number : 35 Question Id : 78068135 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

When the battery is being discharged the terminal voltage decreases with-

Options :

1. ¥ decreasing discharge rate

2. # decreasing state of charge

3. # decreasing temperature

4. % none of the above

Question Number : 35 Question Id : 78068135 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

e ded} fewar g1 Tl gl g, dl effd dieew & 1Y gl 5-
Options :

1. ¢ SEN R IA R

2. % ol ol UM P gea W

3, % QIO & ged R

4. % IWRIad H A HIs T8

Question Number : 36 Question Id : 78068136 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Internal resistance of a battery is due to-

Options :

1. # reistance of electrolyte

2. # resistance of electrodes

3. ® gurface contact resistance
4. ¥ all of the above

Question Number : 36 Question Id : 78068136 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

I BT siiafies ufaRlY frad SR B 8-

Options :

1. % ZAdCIArSe Bl UfaRiY
2. % Fodeiey ol UlaRiY
3. % Yag YU UfeRIY



4. ¢ IWIad Tt

Question Number : 37 Question Id : 78068137 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Stator of induction motor is made of -

Options :

1. #® carbon

2. % wood

3. # copper stampings

4. ¥ silicon steel lamination

Question Number : 37 Question Id : 78068137 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

SSI Hiek BT Wex I S 8IaT g -
Options :

1. % PHTad

2. % ddhol

3. % HIQR T

4.  Rofered ©a afmee

Question Number : 38 Question Id : 78068138 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Single phase motor generally get overheated due to -

Options :

1. ® over loading

2. # short windings

3. # Dbearing troubles

4. ¥ any of the above

Question Number : 38 Question Id : 78068138 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

R s M g=Ia:. RT3 TRA B oIl & -
Options :

1. % 3Hfeep dIfeT

2. % TS aRfE™

3. % SRy gEwn

4. ¢ IWRIad gt

Question Number : 39 Question Id : 78068139 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0.25

A universal motor operate on-

Options :

1. ® constant speed and varying load

2. # constant load and varying

3. % approximately constant speed and load

4. % synchronous speed with varying load

Question Number : 39 Question Id : 78068139 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

T gRaga Hle | TR BT Bl 8-

Options :

1. % RR 7fa 3R yRafda ds wR

2. % fRR A 3R ulkafda fa

3.« T FRR 1A SR Als W

4. % gHBICID A & Y gRAfdd de R

Question Number : 40 Question Id : 78068140 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Reluctance motor are-

Options :

1. # doubly excited

2. ¥ singly excited

3. # either doubly excited or singly excited

4. % none of the above

Question Number : 40 Question Id : 78068140 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

faeg ey &

Options :

1. % Sl TRITSCS

2. ¢ RiTTel TRIIgCS

3. % qHI Soccll TaTRcs a1 RivTell Teges
4. % IWRII H I DI Tl

Question Number : 41 Question Id : 78068141 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The rating of fuse wire is always expressed in :-

Options :



1. # volts
2. ¥ amperes
3. #® ampere-volt

4. ¥ ampere hours

Question Number : 41 Question Id : 78068141 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

WIS AR B T §HT e 1 oIl &:-
Options :

1. % dice

2. ¢ THRR

3. % THRR-dlee

4. % THRR-3{TR

Question Number : 42 Question Id : 78068142 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The size of conductor used in Power cables depends on :-

Options :

1. # operating voltage

2. % Power factor

3. ¢ current to be carried

4. ¥ type of insulation used

Question Number : 42 Question Id : 78068142 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

faqgd el H T BHedex Bl PR 39 R FHR ST 6
Options :

1. % ORI e

2. % TlaR BheeX

3. ¢ W OfF URY T

4. * Y 3R BT TR

Question Number : 43 Question Id : 78068143 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

A Buchholz relay is used for :-

Options :

1. ¢ protection of transformer against all internal faults.

2. % protection of transformer against all external faults.

3. ® protection of transformer against both internal and external faults.



4. % protection of induction motor.

Question Number : 43 Question Id : 78068143 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

IS R BT ITINT {7 STl 3:-

Options :

1. ¢ it SaRe Sl ¥ TRBIHR &1 YR&T UG &R o forg

2. % it e} QI 9 CIRITHR B GRET UG $H= o forg

3. % SfIARD 3R TR Tl aINl J TRIBTHR BT REMT U™ B b forg
4. % TRUTHIC DI & UGH DR o ey

Question Number : 44 Question Id : 78068144 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which of the following dc motors has almost constant speed over their full-load range?

Options :

1. # series motor

2. % shunt motor

3. # cumulatively compound motor

4. % none of the above

Question Number : 44 Question Id : 78068144 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

frafoRed § 3 fra St Jier &1 ol YR T IR @ RR 71fd gt 82
Options :

1. % m(series)w

2. ¢ T HIc]

3. % I U 9 G HieR

4. % STHY DTS TQI

Question Number : 45 Question Id : 78068145 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The starting current of a 3-phase induction motor is about ------ its full-load rated current.
Options :

1. % half

2. ® twice

3. % 5to 7 times

4. % 15 to 20 times

Question Number : 45 Question Id : 78068145 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0.25

3-To] SSARM HIeR & WIfeH He Hd-arg HIC Pl - BT ¢ |
Options :

1. % 31T

2. % gIun

3. ¢ 587700

4. % 153 20 0T

Question Number : 46 Question Id : 78068146 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

A balanced load of 5Q is connected in delta. What is the resistance per phase of the equivalent star
connection?

Options :
1. # 50
2. ¥ 1.66Q
3. % 15Q
4, % 2,50

Question Number : 46 Question Id : 78068146 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

5Q 1 T Hferd HR Seel H FST §3M1 § ol HIed TR H1aR b Uil Bl TfeR1Y 1l b -
Options :

1. % 50

2. ¥ 1,660

3. % 150

4. % 2,50

Question Number : 47 Question Id : 78068147 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The sparking at the brushes, in a dc machine, is due to

Options :

1. # armature reaction

2. ¥ reactance voltage

3. # presence of commutator

4. * high resistance of carbon brushes

Question Number : 47 Question Id : 78068147 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

SN 72T & w0} iR Wi BT HRUT B2

Options :



1. % 3R ufafear

2. ¢ ey dleeo

3. % PRI DI IR

4. % BT F BT 3 YRy

Question Number : 48 Question Id : 78068148 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Why is the core of the transformer built of laminations

Options :

1. ¥ to reduce eddy current loss

2. ® for convenience of febrications

3. ® no specific advantage

4. # for increasing the permeability

Question Number : 48 Question Id : 78068148 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

CIRIBTHR &1 HR AFARE F &} §91a1 Il 82
Options :

1. ¢ TS YRT 81 I HH B & forw

2. % fHT0r 3 gfawr & fa

3. % PIg oY @Y o

4. % QRITAOAI §¢H & faQ

Question Number : 49 Question Id : 78068149 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Air pollution due to smoke around a thermal power station can be reduced by installing -
Options :

1. # induced draft fans

2. % superheater

3. ¥ economizer

4. ¥ electrostatic precipitator

Question Number : 49 Question Id : 78068149 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

YU OTaR WE & U YU § 811 dTd aRY UGNl &1 6 H & fore ford RiTfura faan S @ -
Options :

1. % URd S0 B9

2. % gUR@IR

3. % SHIHGOR



4. ¥ IAF R HiffieeR

Question Number : 50 Question Id : 78068150 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0.25

Whenever the conductors are dead- ended or there is a change in the direction of transmission line, the

insulators used are of the -
Options :

1. * Pin type

2. # suspension type

3. % strain type

4. # shachle type

Question Number : 50 Question Id : 78068150 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0.25

o 1} dreder 31U TRy R Ugd ST T SHITHR @18 &1 fA= 9adll offd, af I- 91 Sgaie” &l

ST BTG -
Options :

1. % U9 e3y

2. % gWTE sy
3. ¥ A TRY

4. % QHd <Y

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Part C

7806813
3

Online
Mandatory
30

30

30

0

1
7806813
Yes

Question Number : 51 Question Id : 78068151 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0.25

The cost of a fluorescent tube is more than that of an incandescent lamp on account of -

Options :

1. * more coponent in the tue



2. % more quantity of glass in the tube
3. % more labour required
4. ¥ all of the above

Question Number : 51 Question Id : 78068151 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

% TR &d &1 ad Uh Sdhadic au SaTal gidl § Fid! -
Options :

1. % Tgg ¥ 3{fYP UcHh BId &

2. % & B Te P AET 3fies S B

3. % °gg U oH DI HIGHT &

4. ¢ I9Yad it

Question Number : 52 Question Id : 78068152 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The characteistic property of which of the following material is poor conductivity -

Options :

1. ¥ conductors

2. ¥ semiconductors

3. # magnetic material

4. ¥ Dielectric

Question Number : 52 Question Id : 78068152 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fofefaa & 3 fog Il ot faxivar WRe Irdedr g -

Options :

1. ¥ H3acx

2. % YHlhgd
3. % 9o g Il

4. WTdegd (SUAGE®)

Question Number : 53 Question Id : 78068153 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Inside the earth or pit, the earthing electrode should be placed -

Options :

1. # horizontally

2. ¥ vertically

3. # inclined at 45°

4. ® in any position



Question Number : 53 Question Id : 78068153 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

STHH A1 TS & SieR 31T Soiaels ford TR @ @nfey -

Options :

1. % afos

2. ¢ qdad

3. % 45° IR PRI gafl

4. % T3l H UHR AT ST Gehdl

Question Number : 54 Question Id : 78068154 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the minimum length of installing a ceiling fan from the floor level?

Options :

1. % 230m

2.9 275m

3. % 3.00m

4. % 375m

Question Number : 54 Question Id : 78068154 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

IS TR W d U P RTT B Pt FAaH daTs 31 82
Options :

1. % 2304t

2.4 2754

3. % 3,009l

4, % 3754

Question Number : 55 Question Id : 78068155 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

A staircase point is operated with -

Options :

1. ¥ Two two-way switches

2. # Two one-way switches

3. # One two-way switches

4. # One one-way switches

Question Number : 55 Question Id : 78068155 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25



T o9 (e 1 fagyd Serem g e -

Options :

1. ¥ g d e

2. % g.9d g
3. % g9-¢-d Ra=
4. % g9-94-d Read

Question Number : 56 Question Id : 78068156 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In the case of three core flexible cable the colour of neutral is

Options :

1. # Black

2. ¥ Blue

3. * Brown

4. % Green

Question Number : 56 Question Id : 78068156 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

T PR ittt Had S A H Yed BT T BT 8

Options :
1. % pIcl
2. & Hia
3. % WX
4. % g

Question Number : 57 Question Id : 78068157 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

According to ohm's Law, the voltage is the product of which two quantities?

Options :

1. ¥ Current and Resistance

2. #* Power and Resistance

3. % Voltage and Power

4. % Energy and Time

Question Number : 57 Question Id : 78068157 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

3\ & a0 & SR dieed! o1 &l AETST &1 U 82
Options :

1. ¢ YRT 3R uferly




2. % i iR ufaRiy
3. % gleeol 3R WfHT
4. % ol 3R 9y

Question Number : 58 Question Id : 78068158 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which material is an insulator (non-conductor)?

Options :

1. ¥ Aluminum

2. ¥ Plastic

3. # Silver

4. % Jron

Question Number : 58 Question Id : 78068158 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

D 1 yerd SreRiy® (TR-ATH) 82
Options :

1. ¥ TcgHi=ay

2. WIRCH

3. % 9rdl

4. % QT

Question Number : 59 Question Id : 78068159 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the role of insulation in electrical wires?

Options :

1. # To conduct electricity

2. ® To resist electricity

3. % To protect from electric shock

4. ® To increase voltage

Question Number : 59 Question Id : 78068159 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

faggd IRl & SYAH &1 o1 T ST 82
Options :

1. % fooTcil BT HaTe HRAl

2. % foTel! &1 UfeRIY AT

3. ¢ fAqYd g T GR& B

4. % qlecs IGMI




Question Number : 60 Question Id : 78068160 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the unit of frequency

Options :

1. # Volt

2. ¥ Hertz

3. % ampere

4. % Ohm

Question Number : 60 Question Id : 78068160 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

39 Pt gbTs T8

Options :
1. % gl
2. ¥ gl
3. % YRR
4. % 3

Question Number : 61 Question Id : 78068161 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a secondary cell?

Options :

1. # Dry Cell

2. ¥ Lead-Acid Battery

3. # Alkaline Cell

4. % Zinc-Carbon Cell

Question Number : 61 Question Id : 78068161 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fFrofefed # 4 oM fodius da 82

Options :

1. % A

2. ¢ US-URYS It
3. % RIT I

4. % RNiw-oe- Id

Question Number : 62 Question Id : 78068162 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25



Which battery is commonly used in smartphones?
Options :

1. #¥ Lead-acid battery

2. # Alkaline battery

3. #* Nickel-cadmium battery

4. ¥ Lithium-ion battery

Question Number : 62 Question Id : 78068162 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TEHH H MHIR TR B Al St BT IUTNT I Sl 82
Options :

1. * AS-ufs 9

2. % R g

3. % Ppd-psimy st

4. ¢ TIfOTH-3Mo 9t

Question Number : 63 Question Id : 78068163 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which component is used to store electric charge in a circuit?

Options :

1. # Resistor

2. ¥ Capacitor

3. % Inductor

4. % Diode

Question Number : 63 Question Id : 78068163 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

forft ged o1 IuahT Afthe o fagya Smaw Tufed & & forg foan sman g2
Options :

1. % AJTR

2. ¢ HURTR

3, % TSR

4. % IAS

Question Number : 64 Question Id : 78068164 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

A 10-ohm resistor is connected in series with a 20-ohm resistor. What is the total resistance?
Options :

1. ¥ 30 ohms



2. % 15 ohms
3. % 20 ohms
4. % 10 ohms

Question Number : 64 Question Id : 78068164 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TH 10-3{T7 IR Y 20-3711 IRRCR & 1Y 07 & ST 71 5 | $F TR 1 R
Options :

1. ¢ 30 3H

2. % 1539

3. % 20 3MH

4. % 10 30H

Question Number : 65 Question Id : 78068165 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

If the power factor of a load is 0.8 and the input power is 1000 W, what is the true power?
Options :

1. ¥ 800 W

2. % 1000 W

3. % 1250 W

4. % 750 W

Question Number : 65 Question Id : 78068165 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

gfe IS o1 UTaR haeR 0.8 § 3R 3Yc fad 1000 W B, Tl aRdide fad faa- gri?
Options :

1. ¥ 800 W

2. % 1000 W

3. % 1250 W

4. % 750 W

Question Number : 66 Question Id : 78068166 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In a parallel circuit, if one branch is broken, the current:

Options :

1. # Increases in other branches

2. # Decreases in other branches

3. % Remains the same in other branches

4. # Stops in all branches



Question Number : 66 Question Id : 78068166 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TS QIR Afee H, Tfe Teh e ge St 8, df UR:
Options :

1. % 3y Q13N # ¢ ot §
2. % 37 YRATSfi # ge St 8
3. « 3 RIS H UM T|at §
4. % gt Tmarsii § & g STt @

Question Number : 67 Question Id : 78068167 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In a synchronous machine, if the excitation is increased beyond the normal excitation level, the machine
operates at:

Options :

1. ¥ Leading power factor
2. % Lagging power factor
3. % Unity power factor

4. #® Zero power factor

Question Number : 67 Question Id : 78068167 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

% JeadbIiad A H, 3 IS M Il Wk ¥ 9¢18 ol §, df A=iH {69 UeR & U
thaex TR BT Bl &:

Options :

1. ¢ ST TR TraeR

2. % QT UTeR Thaer

3. % g UTeR ThaeR

4. % SR OTeR e

Question Number : 68 Question Id : 78068168 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

For a transformer with 100 turns in the primary and 200 turns in the secondary, what is the voltage ratio?
Options :

1.¥1:2

2. % 2:1

3. % 4:1

4. % 1:4

Question Number : 68 Question Id : 78068168 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0.25

TP CRIBTHR | UTUfies & 100 3R fgdiad & 200 T &, dlecst 34T 1 g1
Options :

1.¥1:2

2. % 2:1

3. % 4:1

4. % 1:4

Question Number : 69 Question Id : 78068169 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

A 10-ohm resistor has a current of 2A flowing through it. What is the voltage drop across the resistor?
Options :

1. ¥ 20V

2. % 10V

3. % 5v

4. % 40V

Question Number : 69 Question Id : 78068169 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TH 10-37 IR T 2A BT YRT UaTRd Sl 8 1 IR W e ST 1 82
Options :

1. ¢ 20V

2. % 10V

3. % 5y

4. % 40V

Question Number : 70 Question Id : 78068170 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the function of an inverter in an electrical cicruit?

Options :

1. ¥ Converts AC to DC

2. % Converts DC to AC

3. # Converts voltage

4. % Increase current

Question Number : 70 Question Id : 78068170 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

faegd afdhe o 30k 1 S R 32
Options :
1. ¥ AC &I DC H dga-T




2. % DC DI AC T §ed-]
3. % Gleco] Bl Sl
4, %® YRT DI TG

Question Number : 71 Question Id : 78068171 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0.25

A conductor carries a current of 5A and has a resistance of 2 ohms. What is the voltage across the conductor?
Options :

1. %2V

2. % 5V

3.9 10V

4. % 20V

Question Number : 71 Question Id : 78068171 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TS ITdH | 5A B YRT UdTfed 81 36! 8 3R STHT UfeR1Y 2 3i1H 8| ITdd TR diecsl T g2
Options :
1. # 2V
2. % 5V
3. ¢ 10V
4. % 20V

Question Number : 72 Question Id : 78068172 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Capacity of battery depend upon

Options :

1. ¥ Ampere Hours

2. % Ampere volts

3. # Percentage
4. % Volts

Question Number : 72 Question Id : 78068172 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

3t Bt emar R wedt @
Options :

1. ¢ THRR ©¢

2. % YRR diee

3. % QI al

4. % g



Question Number : 73 Question Id : 78068173 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which among these devices are required for manual control of induction motors?

Options :

1. #* Drum controller

2. # Face plate starter

3. # Toggle switch
4. ¥ all of the above

Question Number : 73 Question Id : 78068173 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

SSRM HicY & BG3d G701 & T 3780 T S 1 SUBRUT SHTIRIS 52

Options :

1. % g0 AgA%

2. % Ty Wi W
3. % qaTd R
4.3 9q

Question Number : 74 Question Id : 78068174 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which motor is preferred for the cement industry.

Options :

1. #* Squirrel cage motor

2. % Synchronous motor

3. ® Universal motor

4. * DC series motor

Question Number : 74 Question Id : 78068174 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

G I & forw i T Hiex & mnyfiear < Sl g |
Options :

1. % fiae fUSk &1 Alex

2. ¢ TABIcID HlcR

3. ® gHayd Hiex

4. % ST YA gy

Question Number : 75 Question Id : 78068175 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25



What is the maximum temperature limit up to which calss E insulation can be used
Options :

1. ¥ 120°C

2. % 180°C

3. % 50°C

4. % 90°C

Question Number : 75 Question Id : 78068175 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

SMfIGHaH T e 31 § o deb FHefT § SIAXH BT IUANT fasaT oI Udhal §
Options :

1. ¥ 120°C

2. % 180°C

3. % 50°C

4. % 90°C

Question Number : 76 Question Id : 78068176 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Most accidents are caused by

Options :

1. * Bad weather

2. ¥ People

3. % Equipment

4. % Poor direction

Question Number : 76 Question Id : 78068176 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fYHT gHed forads SR Bl 82

Options :

1. % W9 HgH
2.« AN

3. % JUHI0I
4. % W19 fa=m

Question Number : 77 Question Id : 78068177 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Purpose of Earthing is

Options :

1. #® Safety to personnel



2. % Fire protection
3. ® Protection against electric shock
4. ¥ all of the above

Question Number : 77 Question Id : 78068177 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

SIRUEIERCE

Options :

1. % STl BT QRem

2. % 3 gREf

3. % fooTcll & e I YRET
4. SR b FHt

Question Number : 78 Question Id : 78068178 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The maintenance performed on regular basis to reduce the likelihood of failure is

Options :

1. ¥ Routine maintenance

2. ¥ Breakdown maintenance

3. ¥ Preventive maintenance

4. % Predictive maintenance

Question Number : 78 Question Id : 78068178 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

A adr Bt FHTEAT B HH HRA & fore FHafia YR IR R fHar Sirar 8
Options :

1. % f9afid YeREEa

2. % §H B3 IWRWd

3. ¢ MRS TEREE

4. % YTTIfed IQ-IQ1d

Question Number : 79 Question Id : 78068179 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Maintenance shedule for synchronous machines (alternators and motors)

Options :

1. # Diaily, monthly, yearly

2. ¥ Monthly, 6 month, yearly

3. # Weekly, monthly, yearly

4. % None



Question Number : 79 Question Id : 78068179 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fRfepra T=iFT (3reeraer 3R Hied) & forw [aaTd St
Options :

1. * ¢, T, aie

2.« HIR®, 6 Ao, Iftic

3. % Tlfedp, IRk, At

4. % PIs Tl

Question Number : 80 Question Id : 78068180 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In voltage ratio test on transformer test reading of voltmeter is

Options :

1. ¥ Maximum

2. % Minimum

3. % Zero

4. % None

Question Number : 80 Question Id : 78068180 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

SRR IR iees o urd Teu § el B Of&m gidtg
Options :

1. % 3ffeehdH

2. % AH

3. VI

4. % PIg 8!

Part D
Section Id : 7806814
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1

Sub-Section 1Id : 7806814



Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 78068181 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Director relay are based on flow of

Options :

1. ¥ Power

2. % Current

3. # Voltage

4. * all of the above

Question Number : 81 Question Id : 78068181 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fewre el & varg R 3nuta @

Options :

1. ¢ i

2. % YRT

3. % dlecol

4. % JW &b gl

Question Number : 82 Question Id : 78068182 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

High Tension cable are generally used up to

Options :

1. ¥ llkv

2. #® 33ky

3. % 66kv

4, % 132kv

Question Number : 82 Question Id : 78068182 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

STHAR TR 8T8 < B BT ST foar STl §
Options :

1. ¥ 1lkv

2. % 33 pdl

3. % 66kv

4. % 132kv

Question Number : 83 Question Id : 78068183 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25



Measurement of slip conducted under  test
Options :

1. ¥ Routine test

2. #® Type test

3. #* Special test

4. % None

Question Number : 83 Question Id : 78068183 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

& dgd rafora difera w1 A
Options :

1. « fafta wieon

2. % YDHR TRIE00

3. % o=y uteor

4. % DIS TRl

Question Number : 84 Question Id : 78068184 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Class 'B' insulating material operators on temperature.

Options :

1. #® 90 - degree C

2. % 130 - degree C

3. % 105 - degree C

4. % 190 - degree C

Question Number : 84 Question Id : 78068184 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

FA S ST It 3iRex dIqH WR |
Options :

1. % o0 - f&3ft 4t

2.+ 130 - feult it

3. % 105 - &t <t

4. % 190 - feut 4t

Question Number : 85 Question Id : 78068185 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The earth potential is taken

Options :

1. * Infinity



2. % supply voltage
3. % one volt
4. ¥ Zero

Question Number : 85 Question Id : 78068185 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

et B & < TS §

Options :
1. % 3d

Question Number : 86 Question Id : 78068186 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Section 44 refer to

Options :

1. ¥ Penalty for interface with meters

2. % Penalty for illegal transmission use of energy

3. # Penalty for maliciously wasting energy
4. ® Theft of energy

Question Number : 86 Question Id : 78068186 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

YT 44 BT ITT &

Options :

1. ¢ TR o 1Y %Y & g AT

2. % Sl & 3fdY TeRUT UGN & forg JAFT
3. % GUITATGA® Holl 981G PR & [ATd AT
4. % Lol B AR

Question Number : 87 Question Id : 78068187 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Section 10 of electricity act 2003 Deal with

Options :

1. # conditions of license

2. ® generating company and recruitment for setting up of generation station

3. ¥ duties of generating companies

4. ® control of transmission and use of electricity



Question Number : 87 Question Id : 78068187 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

faggd Sifefaw 2003 BT 4RT 10 Y FefIT §

Options :

1. % A9 & U

2. % JATG HUAT 3R ITE TR DI RITIAT & g il
3. ¢ JdIGA HUFTl & B

4. % faqgd & YRYUI T IUFNT R fg=m

Question Number : 88 Question Id : 78068188 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which alloy is used as an electrical resistance alloy?

Options :

1. # Nickel alloys

2. # Nickel chromium alloys

3. # Ferro nickel alloys
4. ¥ all of the above

Question Number : 88 Question Id : 78068188 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fagya uferty fisrerg & = u o fow frsrerg &1 Iuai far Srar g2

Options :

1. % et Ty urg

2. % fod wiftga fry urg
3. % O] v i1y 1

4. ¢ ST HS

Question Number : 89 Question Id : 78068189 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the typical value of the capacitor used in 'capacitor run' induction motor

Options :

1. #® 5uf

2. % 40pf

3.9 300uf

4. % 1000puf

Question Number : 89 Question Id : 78068189 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25



PR Wi S Hiex # wad HURye’ o1 [y qeg @ 82
Options :

1. #® 5uf

2. % 40uf

3. ¢ 300uf

4. % 1000puF

Question Number : 90 Question Id : 78068190 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Upto what temperature should the cable filling compound be warmed for connecting the circuit breaker to
the main cable?

Options :

1. % 80-90°C
2.%157-168°C
3. % 135-148°C
4. % 149-152°C

Question Number : 90 Question Id : 78068190 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Hfdhe SR &I T HId Y SIS b (01T Had (Uhiei] HATSS B [hy dTaHM I TH a1 ST A1fgu?

Options :

1. % 80 - 90 TS Afco™
2. ¥ 157-168° 9

3. % 135-148°Y

4. % 149 152°9

Question Number : 91 Question Id : 78068191 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Circuit breaker set to operate at and overload not be existing

Options :

1. ® 2.0 Times the designed loads current of circuit

2. % 1.5 Times the designed loads current of circuit

3. * Both

4. % None

Question Number : 91 Question Id : 78068191 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

gfdhe S & FaTferd B & AT e far T § 3R SfiaRars JisE el &

Options :

1. % Hidhe o fEulrg fobT T oS e 1 2.0 AT




2. ¥ Ffdhe & f&WTg fobq T dils e T 1.5 T
3. % gHI
4. % IS TGl

Question Number : 92 Question Id : 78068192 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Flexible cord should be used for

Options :

1. ¥ Pendant

2. % Wiring of fixtures

3. ® Fix wiring

4. % Bothaandb

Question Number : 92 Question Id : 78068192 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

P fore et SR &1 TN 631 91l

Options :

1. ¥ dChA

2. # flhereR &1 AN
3. % GRINAT BTeb B
4. % TR S A

Question Number : 93 Question Id : 78068193 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Lead sheathed wiring Applicable for

Options :

1. ¥ Temporary installation

2. ¥ Suitable for place exposed to rainy and Dam place

3. # Industrial and commercial building

4. % Residential and commercial offices.

Question Number : 93 Question Id : 78068193 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

e fere araf & fag ey

Options :

1. % ST R

2.+ SRYTT 3R §Y 9T VI & o Iugad
3. % 3NN Ug s Ha=

4. % TG T4 qifoa® SEad |



Question Number : 94 Question Id : 78068194 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

GFCI outlet highly recommended

Options :

1. # Bed room

2. ® Living room

3. ¥ Kitchens and bathroom

4. % Hallways

Question Number : 94 Question Id : 78068194 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

SuwHens s3ede srafie SRR

Options :

1. % I BT HHA

2. % TBD DY

3. ¢ IS 3R WHER
4. % gld

Question Number : 95 Question Id : 78068195 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Section 35 of the Electricity Act 2003 provides for punishment

Options :

1. ® one year imprisonment,

2. ® Fifty thousand rupees fine,

3. # In default of payment of fine, simple imprisonment for a further three years

4. ¥ all of the above

Question Number : 95 Question Id : 78068195 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fagga i 2003 Y 4R 35 T o HT UG §

Options :

1. % U 99 B HRIAN,

2. % U9 §OIR UL ST

3. % QM QT 9 A WR 3ifaRad i I8 &1 WURI HRIG™
4. ¢ JFWR & gt

Question Number : 96 Question Id : 78068196 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25



A 3-phase 440 V, 50 Hz induction motor has 4% slip. The frequency of rotor current will be
Options :

1. # 50 Hz

2. ®# 25Hz

3. % 5Hz

4. ¥ 2 Hz

Question Number : 96 Question Id : 78068196 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

T 3-U591 440 V, 50 Hz SSIRM AR T 4% &0 B 1 e 4T Bt 31gfy grft

Options :

1. % 50 ol
2. % 25 8ol
3. % 5@
4. ¢ 2 geo

Question Number : 97 Question Id : 78068197 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

A three phase slip ring induction motor I started with

Options :

1. ¥ DOL starter

2. # Star Delta starter

3. % Rotor resistance starter

4. % Auto transformer starter

Question Number : 97 Question Id : 78068197 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TS o =ROT aTelt &y R S5av Hier &) farads Iry I3 farar ST &-
Options :

1. % SeNud Wk

2. % TR STl WeX

3. ¢ e YfaRIY W
4. % 3ffc] TRAHIR WeR

Question Number : 98 Question Id : 78068198 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The torque characteristic of a 3-phase induction motor is similar to that of

Options :

1. % DC series Motor



2. % DC Shunt Motor
3. % DC differentially compund motor
4. % DC cumulatively compunded Motor

Question Number : 98 Question Id : 78068198 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

3-Thol SR HIe D1 Cldb [aRIYdT STb THM ©
Options :

1. % SR ORI Aiex

2. ¢ ST T AR

3. % Sl faues U A fAfgd AR
4. % I I = ¥ fHfda dex

Question Number : 99 Question Id : 78068199 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Is not required for troubleshooting maintenance

Options :

1. ¥ Cost of equipment

2. # Type of equipment

3. # Operating condition

4. % Disorganiztion of equipment

Question Number : 99 Question Id : 78068199 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Fr FRaR ReRETE & o Siawae T8 8
Options :

1. ¢ JUHRU] B AR

2. % JUHRU BT UHR

3. % HTH DB B IR

4. % IUBUN DI TR

Question Number : 100 Question Id : 780681100 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Code for practice of Installation maintenance of induction motor

Options :

1. % IS 732-1963

2. % 1s 900-1935

3. % Is 1886-1967

4. ¥ 15 2274-1963



Question Number : 100 Question Id : 780681100 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

SR HIC DI RITIAT WG & 3T o [T HIS
Options :

1. % MUY 732-1963
2. % 3ETH-900-1935
3. % 3MT3UY-1886-1967
4. ¥ JRTY-2274-1963



